Election Summary Report
General Election
Wright County, Iowa
Tuesday, November 3, 2020

Wright Co General Election 2020 Unofficial Results
Unofficial 2020 General Election Results

Date: 11/3/2020 Time: 9:47:59 PM CST

Page 1/5

Registered Voters 8,261 - Total Ballots 6,305: 76.32%

10 of 10 Precincts Reporting 100.00%

US President and Vice President		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1	0.040	
Total Votes	6,240	
Donald J. Trump Michael R. Pence (REP)	4,135	66.27%
Joseph R. Biden Kamala D. Harris (DEM)	1,995	31.97%
Roque Rocky De La Fuente Darcy G. Richardson (ALL)	5	0.08%
Don Blankenship William Alan Mohr (CON)	2	0.03%
Ricki Sue King Dayna R. Chandler (GKH)	3	0.05%
Howie Hawkins Angela Nicole Walker (GRN)	6	0.10%
Jo Jorgensen Jeremy Cohen (LIB)	70	1.12%
Brock Pierce Karla Ballard	5	0.08%
Kanye West Michelle Tidball	19	0.30%

U.S. Senator		·
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	6,184	
Joni Ernst (REP)	3,889	62.89%
Theresa Greenfield (DEM)	2,062	33.34%
Rick Stewart (LIB)	158	2.55%
Suzanne Herzog	75	1.21%

US Representative, Dist. 4		•
Number of Precincts	10	400.000/
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5,917	
Randy Feenstra (REP)	3,854	65.13%
J.D. Scholten (DEM)	2,063	34.87%

State Senator, Dist. 4		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	4,806	
Dennis Guth (REP)	4,806	100.00%
State Representative, Dist. 08		

State Representative, Dist. 08		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5,702	
Terry Baxter (REP)	4,127	72.38%
Glenn Kiss (DEM)	1,575	27.62%

County Supervisor Dist. 1		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	6,036	
Rick Rasmussen (REP) Jason G. Wessels (DEM)	3,317 2,719	54.95% 45.05%

County Supervisor Dist. 3		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5,871	
Karl Helgevold (REP)	3,291	56.06%
Mike Boyd (DEM)	2,580	43.94%

Date: 11/3/2020 Time: 9:47:59 PM CST

Page 2/5

Registered Voters 8,261 - Total Ballots 6,305: 76.32%

10 of 10 Precincts Reporting 100.0

County Auditor		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5,356	
Betty Ellis (REP)	5,356	100.00%

Woolstock TWP Trustee		
Number of Precincts Precincts Reporting	1 1	100.00%
Vote For 2 Total Votes	57	
Cory Anderson	57	100.00%

County Sheriff		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5,466	
Jason Schluttenhofer (REP)	5,466	100.00%

Soil and Water Conservation D	Dist. Commissioner	Ì
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 3		
Total Votes	10,293	
Austin Charlson	3,774	36.67%
Heather Christensen	3,382	32.86%
Laurie Johnson	3,137	30.48%
Laurie Johnson	3,137	30.48%

lowa TWP Trustee		
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For 2		
Total Votes	165	
R.E. Lee Aldrich	93	56.36%
Rhonda M. Benton	72	43.64%

County Agricultural Extension Counc	il	
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 4		
Total Votes	12,752	
Miguel Angel Chavez	2,991	23.46%
Rodney Legleiter	2,978	23.35%
Mike Marshall	3,537	27.74%
Hillari Sanders	3,246	25.45%

Wall Lake TWP Trustee		
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For 2		
Total Votes	100	
Dean A. Cleveland	48	48.00%
Dean Kluss	52	52.00%

Retain Supreme Court Justice Christopher McDonald		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Total Votes	4,273	
YES	3,243	75.90%
NO	1,030	24.10%

Date: 11/3/2020 Time: 9:47:59 PM CST

Page 3/5

Registered Voters 8,261 - Total Ballots 6,305 : 76.32%

10 of 10 Precincts Reporting 100.00%

Retain Supreme Court Justice Thomas Waterman		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Total Votes	4,194	
YES	3,086	73.58%
NO	1,108	26.42%

Retain Court of Appeals Judge	Sharon Soorholtz G	Greer
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,046	
YES NO	3,038 1,008	75.09% 24.91%

Retain Supreme Court Justice S	Susan Kay Christer	nsen
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,271	
YES NO	3,256 1,015	76.24% 23.76%

Retain Court of Appeals Judge Thomas N. Bower		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Total Votes	4,031	
YES	3,006	74.57%
NO	1,025	25.43%

Retain Supreme Court Justice I	Edward Mansfield	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,171	
YES NO	3,026 1,145	72.55% 27.45%

Retain Court of Appeals Judge David May		
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,021	
YES NO	3,007 1,014	74.78% 25.22%

Retain Court of Appeals Judge	e Julie A. Schumache	r
Number of Precincts	10	
Precincts Reporting	10	100.00%
Total Votes	4,141	
YES	3,260	78.72%
NO	881	21.28%

Retain Dist. 2B Judge Gina C.	Badding	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	3,952	
YES NO	3,028 924	76.62% 23.38%

Date: 11/3/2020 Time: 9:47:59 PM CST Page 4/5

10 of 10 Precincts Reporting 100.00%

Retain Dist. 2B Judge Bethany	Currie	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	3,934	
YES NO	2,995 939	76.13% 23.87%

Registered Voters 8,261 - Total Ballots 6,305 : 76.32%

Retain Dist. 2B Judge Christopher C. Polking		
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	3,897	
YES NO	2,888 1,009	74.11% 25.89%

Retain Dist. 2B Judge Angela L		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Total Votes	3,965	
YES	3,054	77.02%
NO	911	22.98%

Retain Dist. 2B Associate Judge James B. Malloy		
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,099	
YES NO	3,222 877	78.60% 21.40%

Retain Dist. 2B Judge James C. Ellefson			
Number of Precincts	10		
Precincts Reporting	10	100.00%	
Total Votes	3,951		
YES	2,971	75.20%	
NO	980	24.80%	

Retain Dist. 2B Associate Judge Stephen A. Owen		
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	3,919	
YES NO	3,004 915	76.65% 23.35%

Retain Dist. 2B Judge Amy M. N	Moore	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	3,961	
YES NO	3,037 924	76.67% 23.33%

Retain Dist. 2B Associate Judg	e Joseph L. Tofilon	
Number of Precincts	10	
Precincts Reporting	10	100.00%
Total Votes	3,918	
YES	2,951	75.32%
NO	967	24.68%

Date: 11/3/2020 Time: 9:47:59 PM CST

Page 5/5

Registered Voters 8,261 - Total Ballots 6,305 : 76.32%

10 of 10 Precincts Reporting 100.00%

Public Measure 1		
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	5,185	
YES NO	1,245 3,940	24.01% 75.99%